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Political Science
Paper II

Tt feormm
gyarent 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A YIAUCThd THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)
U TR, |E TR Hiedl

1. The Constituent Assembly accepted | 1. wseam™@fEaE a7 feaeft

the constitution on .................. .
(A) 15th August, 1947
(B) 26th January, 1950

TSTEeTE] WIhR el
(A) 15 3=, 1947
(B) 26 STHaRI, 1950

(C) 26 Tgs, 1949
(D) 8 A=, 1942

(C) 26th November, 1949
(D) 8th August, 1942

2.  Fundamental duties were included | 2. HAYd Haear=l HHAGTY AT .oooveeo.

in the constitution by the .............. EEIFA STl
Amendment.
(A) 443
(A) 44th
(B) 524
(B) 52nd
(C) 42nd (©) 4250
(D) 83rd (D) 83dit
3.  Article 368 of the constitution deals | 3. H&T Hetd 368 el A=t =l hid :
with - (A) sfteuiifaoes  stfeenr

(A) Emergency Powers

(B) HeAgewir=t sk
(B) Amendment Procedure

(C) Fundamental Rights (C) FA SAHR

(D) TS SHeE

(D) Panchayati Raj System

3 [P.T.O.



Minimum age of voting has been

brought down from :
(A) 25 to 21
(B) 21 to 18
(C) 21 to 20
(D) 20 to 16

Which among the following states
do not have Vidhan Parishad ?

(A) Jammu and Kashmir
(B) Maharashtra

(C) Bihar

(D) Tamil Nadu

Indira Gandhi declared internal

emergency between :

(A) 1971 - 73
(B) 1975 — 77
(C) 1980 — 84
(D) 1975 — 78

Which of the following is not the

function of Parliament ?

(A) To form or end the government
(B) To represent the electorate
(C) To interpret the laws

(D) To legislate

SEP - 15221/I1—D

(A) 25 9&d 21 X
(B) 21 9% 18 =N
(C) 21 a&4 20 X
(D) 20 I&4 16 =X

eI CARCAL R IR e B C B I TC
T QUM AE ?

(A) ST 3TfoT SRR
(B) HENISg

(C) forerR

(D) dfHesTg

I RSB AN hadl.

(A) 1971 - 73
(B) 1975 — 77
(C) 1980 — 84
(D) 1975 — 78

JEIcTush! IV T FHeH A& 2

(A) TR T TR T hIIehTd
HYeror

(B) waerm wfaffaca o
(C) ==l =y e
(D) &S FHO




10.

11.

Provincial Autonomy began with

Government of India Act .............
(A) 1909
(B) 1919
(C) 1935
(D) 1937

Article 32 of the Constitution deals
with :

(A) Judicial Reforms

(B) Judicial Review

(C) Judicial Activism

(D) dJudicial Academy

Who is the Chairman of Niti Ayog ?
(A) President

(B) Prime Minister

(C) Speaker of Lok Sabha

(D) Home Minister

...................... supported Dunkel Draft
and GATT.

(A) Hind Mazdoor Kisan Panchayat
(B) Kisan Sabha

(C) Shetkari Sanghatana

(D) Bhartiya Kisan Union

10.

11.

SEP - 15221/TI—D
Tifdieh A=l e HRd qLhAl
.................. g e
(A) 1909
(B) 1919
(C) 1935

(D) 1937

(A) =nfash gemron

(B) =faeh qAfociR

(C) =afaeh HehIad

(D) ek STeRTHT

il AT LAy HIU ARA ?
(A) Ut

(B) daw€™

(C) AehEdd e8]

(D) TRHH

(A) T AR foram d=m
(B) fermm |

(C) VTHT FoeTl

(D) e fram A

[P.T.O.



12.

13.

14.

15.

The withdrawal of the State from
various walks of Social Life is the
result of :

(A) Liberalisation, Privatisation,
Globalisation

(B) Terrorism
(C) Inter-state Disputes
(D) Regionalism

Ambedkar converted to Buddhism
along with his followers in ........... .

(A) Bodhgaya
(B) Nagpur
(C) Mumbai
(D) Sarnath

Who among the following has the
constitutional responsibility of
creating new States ?

(A) Supreme Court
(B) Prime Minister
(C) Parliament

(D) State legislature

Free and compulsory education for
the children upto the age of 14 is
now a part of ........cccceeeeeeieiiin, .

(A) Fundamental Right

(B) Directive Principles of State
Policy

(C) Legal Right
(D) Preamble

12.

13.

14.

15.

SEP - 15221/I1—D

TIFaEd FHrsTSterre fafay &g
W a.el. ET .................. =0 .q.rTUTrq 3“%_’

(A) 3TRIHIIT, WSROI, STTTTeh R L0l

(B) <=ERIAdg

(C) MM-TT 915

(D) TeIER

STEEHIAT =T STIATATER
I IR QY EHf FHiaT ol

(A) ST

(B) AT

(C) Ha8

(D) ™
WTATAUhT ShIoTeR Fai Tarean =t
SEEE 3T ?

(A) e =R

(B) 9duem
(C) T
D) T fafirees

143 Sufoda HerA1 Hekit= ST Jithd
T\ST&TUTW w.la_s_l. ................ q.lﬁ. 311%..

(A) JAYd YRR

(B) Hea=it Hrfeyfeh dw
(C) HERIM AHR

(D) ®ed WIEdTfoleh




16.

17.

Match the following :
List I
(@) Maharashtra
(b) Gujarat
(¢c) Karnataka
(d) West Bengal
List II
(1) Gorkhaland
(2) North Karnataka
(3) Saurashtra
(4) Vidarbha
Codes :
(A) (@)-(4), (b)-(3), (c)-(2), (d)-(1)
(B) (@)-(1), (b)-(2), (c)-(3), (d)-(4)
(C) (@)-(4), (b)-(1), (c)-(2), (d)-(3)
D) (@)-(3), (b)-(2), (c)-(1), (d)-(4)

World Social Forum was a platform

against .....ccccceevvvveeenennn. .
(A) Socialism

(B) Globalisation

(C) Cold war

(D) War

SEP - 15221/I1—-D
16. el S :
RICU |
(@) HBNSE
(b) TSI
(c) Hfeh

(d) U9 ama

(1) TREmwre
(2) IW FHAlH
(3) Wnrse
(4) foey
Hehdleh :

(A) (@)-(4), B)-(3), (©)-(2), (d)-(1)
(B) (@)-(1), B)-(2), (€)-(3), (d)-(4)
(C) (@)-(4), B)-(1), (€)-(2), (d)-(3)
D) (@)-(3), B)-(2), (©)-(1), (d)-(4)

17‘ qq-sc Hl?l(’l q’)l{H'C“ .................... q_l_( ﬁ E

gral.
(A) HHINAR
(B) STfaehtehion

(C) TS
D) 35

[P.T.O.



18.

19.

20.

M. S. Swaminathan Committee

Report deals with ....................... .
(A) Industrial labour

(B) Centre-State Relations

(C) Agriculture

(D) Road Safety

Which of the following represents

politicisation of religion ?

(@) Ram Janmabhoomi — Babri

Masjid Dispute

(b) Conversions

(c) Affirmative Action

(d) Reorganisation of States
(A) (b) and (c)
(B) (c) and (d)
(C) (a) and (c)
(D) (a) and (b)

Twelve members are nominated to
the Rajya Sabha by ................... .

(A) President of India
(B) Prime Minister of India
(C) Chairman of Rajya Sabha

(D) Supreme Court of India

18.

19.
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TH. TH. WHAYA TR 3Tgara
71 favEmett wefha SR,

(A) SRR HTR

(B) &5-Tsd HaYl

(C) ¥

(D) T& e

TITATHRT HIAT ASAE gqi=a
ek iRl gear fewd ?

(@) TH ST - R TR 9]
(b) wHiR

(c) HHRRIHE Tl

(d) T G
() 2fu (c)
(c) =T (d)
(@) 3T (c)
(a) 3707 (b)

(A)

(B)

(D) YRR Hasd =




21.

22.

Give the correct answer by using the

codes given below :
Assertion (A) :

Globalization does not put an end
to the Public

Administration.

state and

Reason (R) :

Globalization is not effecting
‘roll back’ of state and not failing to

reinvent the government.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) 1is the

explanation of (A)

not correct

(C)
(D)

(A) is true but (R) is false
(A) is false but (R) is true

Who among the following scholars
is at the forefront in developing

neoliberal perspective ?
(A) Frederick Von Hayek
(B) John Rawls

(C) Claus Offe

(D) Peter Drucker

21.

22.
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[V N

erelt fooiean geElqa g ST ehen .

faeam™ (A)

' SITTfaehienTor’ § T STTTOT AT AR TRAT=

e wA ATE

%RUT (R) :
SR TeheoT TEUTSl Sarel HTER SATf0T
T AR ST # A

PO
(A) (A) 3TfoT (R) T Tet TaqAq91 sieR

A (R) B (A) o &R TR
e

(B) (A) 27fr (R) § S99l sRIeR 3Ted
77 (R) ® (A) & I TR0 16N

(C) (A) SR 38 271 (R) I 3R
(D) (A) = 3Tg 3T (R) SR 3T

WATeTUeh! ShIUTAT AR TISCRHIIG]

e faeE v SR TR ?

(A) HeRe = 83
(B) S Ued
(C) AT ATH

(D) Y TR

[P.T.O.



23.

24.

Comparative public administration
emerged on account of the following
reasons and conditions. Identify the

incorrect option as an answer :

(A) Search for theory

(B) Urge for practical application

(C) Deep interest in the cultures,

politics and administration of

newly formed nations
(D) Cold war

Who has described the new
emerging regulatory regime as the

‘Schumpeterian Workfare State’ ?

(A) Paul Streeten

(B) Anthony Giddens

(C) Paul Wilding

(D) Bob Jessop

23.

24.

SEP - 15221/I1—D

JeTIcH AR YRS 354 Wleilel Rl

o qRferdies e, ATt S

I T e

(A) Tagiamen sy

(B) @RI SUASHET o3

(C) T&hdt, TSRO ST yome =
(D) ¥gs

e gertheR W'Y TN 3]

U} e TsEe 318 U v shel ?
(A) W fgdm

(B) sferdt fire

(C) dia fafeen

(D) 9t SEq

10



25.

26.

Which one of the following facts
about generic management is

incorrect ?

(A) First conscious and systematic
application of management

principles was in US Army

(B) It was done by Elihu Root in
1901, who was US President

Roosevelt’s Secretary of war

(C) The First
Congress was held at Prague in

1922

Management

(D) Principles of management were
differentiated between business
and non-business organization

in Prague Congress

Who emphasized the need for clearly
spelling out the objectives of every
manager in either private or public
organization ? So that he could
control his performance and direct
his efforts towards achieving the

objectives of his organization ?
(A) F. W. Riggs

(B) Peter F. Drucker

(C) Frederic Herzberg

(D) Rensis Likert

25.

26.

SEP - 15221/I1—-D

A SHEATIAT=AT dTedid @leilerueh]

R qUINA 3T A ?
(A) TR TTHEY HILTIh T

Tl et dfget Sflages o
FEred STHeasautt

(B) STaRRA Ureas fasiier wsdeean
g Wfea gfelg ®€ I 1901 o
ENNIEEERESIER]

(C) 1922 =it YT Jehe “Roielt ufeett
LAY HITH

(D) W1 URoRd SHIEATIT=A1 eI eeh
affor Teamedtash ST e

P fafu=eRen swevaa e

oS SHAEATIhTAT A=A ShTHTLIER

fg=Tor St J5e 1101 Teee Sfese |
FHLOr feve Soed g fewm
TRl A5 AT SR SIS SATIOT

o o oY o ha¥ [aV
NIESIEEIR- IR E N E L I B EA ]

3fEte TS ITeTd HITUAT=AT TRSTe Shivf
W feen ?

(A) TH s=g. fos

(B) dlEX ThH. TR

(C) e wgiar

(D) =g fowe

11

[P.T.O.



27. Match List I (Scholars) with List 11

(Formulations on leadership) and
select the correct answer from the
codes :

List I
(Scholars)
(@) H. Koontz and O’Doneel
(b) C. I. Bernard

(¢c) Daniel Katz
L. Kohn

(d) A. K. Rice
List II

and Robert

(Formulations on Leadership)

(1) A leader performs 4 functions-
setting goals, securing means,

control over action and
coordination

(2) Identified 3 levels of leadership
acts

(3) Conceived of leadership in
terms of boundary controlling
functions

(4) Identified three different
approaches to leadership-

traitist, situationist and
elementalist.
Codes :

(@ ) (© (@
A @ @O @3 @
B 3 @ 1 @
© @1 3 @ @
M @2 @O @ O3

SEP - 15221/I1—D

27. = 1 (fage) enfor It 11 (S

4R Seeh) = A Hes = Seld
GehdlehT=l 9T e A7 I e ;

(@) TE. = AM0 3TedA

(b) ©I. 3. o

(c) e sweg anfor sk T, wied
d) U @& TEH

(1) =affead, e gRet, Haek
oo, =g & Tl 9R S
it

(2) TEATHE, ARy, Faen ffed
3T AJcare 9 WRERd il

ifiaes

(3) ww f=rum= st g

(4) Y, aRfEdt onfor sl wefia
am fafu= gfeswm [ifiaa

Hehdich :
(@ b)) @ @

A @ @O B @)

B B 2 1 @

e @ 6 @ @

M 2 O @ 3

12



28.

29.

30.

Who introduced the concept of
‘knowledge worker’ and ‘knowledge-

based organization’ ?
(A) Joseph Coats
(B) Warren Bennis
(C) Peter Drucker
(D) Chris Argyris

Mary Parker Follett was criticized

for :

(A)

Ignoring concerns of her time

(B)

Not interpreting social content

of organization scientifically

(C) Her thesis on depersonalization

of order

(D)

Drawing distinction between

“power over” and “power with”

Which one of the following concepts

favours market-friendly and

business process engineering, apart
from continuing with old principles

of public administration ?
(A) Scientific Management
(B) Science of Administration
(C) New Public Management

(D) New Public Administration

28.

29.

30.

SEP - 15221/I1—-D

.

‘I RHET eTfor fFrTfafted weeAr A

HRTTAT IV WG wheft 2

(A) SIE® wieH

(B) A sz

(C) dIR g

(D) fag smfE

T UTehY Ticieal AIS! STehT shedt el
(A) == TeHihe A& el

(B) GEe=A1 WIS SR YT
o A o | W

(C) fafecrean sTawd=a SAaferdem o=
JTETS!
(D) ‘SAEd Har' ST SaveReEe

' a@ fad heed WhMS

QeI IS i I NERE

EATAUh] ST Heha T STSTLEg! STT0T

~

gfRae

ST Ieh 3T EI]

R ?

(A) ST HTEATIH

(B) WA IS

(C) -9 ek I

(D) & den gImEd

13

[P.T.O.



31.

32.

Give the correct answer by using the
codes given below :

Assertion (A) :

The public-private distinction should
not be viewed as a matter of
orthodoxy.

Reason (R) :

Many of the organizational designs
and practices pioneered by the
private sector may be profitably
introduced in public administration.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) 1is false but (R) is true

The Citizens’ Charter is based on the
following principles :

(@)

(B)

Wide publicity on the standards
of performance of public
agencies

)
(c)
(d)
Codes :

(A) (@), (b) and (d)
(B) (@), (b) (¢) and (d)
(C) (b), (c) and (d)
(D) (a) and (c)

Assured quality of services
Access to information

Simplified grievance redressal

31.

32.

SEP - 15221/I1—D

Gt HehdiehT=l 9T hed AR 3N
fagam™ A) :
TSI eh—TISHT YRTEATdA  HichTohe
WSS TR st S 3.
0T (R)
QTSI ST 3Tk TeeATcHe ANES

ST HAER 7 AARURIEAN ST
AR el ST,

PO
(A) (A) 37T (R) § St Saaq0] aReR

A (R) B (A) o e SIS0l
e

(B) (A) 37T (R) § SII Ta=1q0l SR
378 991 (R) ® (A) & 17T TSR0
B

(C) (A) SR 38 99 (R) I 378
(D) (A) I 3 907 (R) SR 3T

AR Te @elld dwaial STend
3TE

(@) WESIeER AfTRIom= HEA=
AR T Tt

(b) TAfy=a ToEREn Ja

(c) wifedtE died

(d) TR et gay sgewen
Hehdiah :

(A) (), (b) 30 (d)

B) (@), ) (¢) 01 (d)

(C) (b), (c) =M (d)

(D) (a) 3T (c)

14



33.

34.

Number of social accountability
initiatives are undertaken in
different parts of the world which are
as follows :

(@)
b)

Participatory Budget Analysis

Participatory Expenditure
Trecking

(c)
(d)
Codes :

(A) (@), (¢) and (d)

(B) (), (¢) and (d)

(C) (a), (b), (c) and (d)
(D) (b) and (c)

Community Score Cards

Citizen Report Cards

Traditional mechanism of

accountability are :
(@) CAG

(®)
(c)

Public Accounts Committee

Corruption - Controlling

agencies like Central Vigilance
Commission

(d) Social Audit
Codes :

(A) (a), (b), (c) and (d)
(B) (a), (b) and (c)

(C) (), (¢) and (d)

(D) (c) and (d)

33.

34.
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SUIERCICERINIGEICISERSCHIRELE
3ok IUHH BT el 3718 S el 3718d

(@) MR 31eigehey fagarom

(b) WARRT == ST/l

() THSE T[UT dlfcTehrt/TToT ik

(d) ANRERT™ 3Tgard 5

Hehdiah :

(A) (a), (c) AT (d)

B) (b), (c) = (d)

(C) (), (b), (c) M0 (d)

(D) (b) 3 (c)

STEIIEE IRue a5

(@ &7

(b) R T |

(c) HeM &l SAEANTHRE  WeerER
IERERICIlE IRy

(d) HEIfSH e

Hehdich :

(A) (a), (b), (c) =TT (d)

B) (a), (b) A (c)

(C) (B), (c) U (d)

D) (c) 2fo1 (d)

15

[P.T.O.



35.

36.

‘Democratic Deficit’ concerns with :

(@)

Declining levels of citizens trust
in political institutions

®)
(c)

Primacy of form over substance

Shift from representative
democracy to participatory
democracy

(d)
Codes :

(A) (a), (c) and (d)
(B) (c) and (d)

(C) (@), (b) and (c)
D) (a), (b) and (d)

‘Social Audit’ means :

Not holding regular elections

(@) A process that enables an
organization to assess benefits
accrued

(b) Measuring the extent to which
an organization lives up to
shared values and committed

objectives

(c)

Helping an organization in
budgetary planning process

(d) Reviewing governmental

expenditure
Codes :
(A) (a) and (b)
(B) (@), (b) and (d)
(C) (b) and (c)
D) (@) and (d)

35.

36.

SEP - 15221/I1—D

N oY AN
NIERUEEIRSHIEE!

(@)

AT TSR TEATdIA  Hed
CINNNIREEEIES

YhRTUT ST WTEm=
gfafaferss ereremdiergd weurfl

QIENIHETIC I CCI Y
(d) sifatha e =
Hehdieh :
(A) (@), (c) 3T (d)
(B) (c) A0 (d)
(C) (), (b) T (c)
D) (a), (b) A (d)
TS, The0 BUN

(@) T& Yfean ST geeArn ardr=t
TIME0N HI0Ig H&H Hhid

(b) FEHAM EhReed Mg Jod
g S qdar fohd gEmna gielt

~ N ~
T HISTHTT U]

(c) 1¥gshey e wfehad geeam
Hed ol

(d) STEEATA TEET SARET B
Hehdich :

(A) (a) (01 ()

B) (), (b) 0 (d)

(C) (b) =M (c)

D) (a) 3T (d)

®)
(c)
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37. Match

List I (Ends of
Accountability) with List II (Tools
of Accountability) and select the
correct code :

List I
(Ends of Accountability)

(@) Openness
(b) Moral conduct
(c) Legitimacy of decision-makers

(d) Responsiveness

List II
(Tools of Accountability)

(1) Public participation and
consultation debates, advisory
bodies, public meetings

(2) Parliamentary question time,
public  hearings, public
information services, annual
reports

(3) Societal values, social justice,
public interest

(4) Constitutional provisions, formal
delegation of authority, electoral
systems for government

Codes :

(@ b)) () (@@
A @O @ B @
B @2 G @ @
< @ 2 @O B
D & 1 @ 2

SEP - 15221/I1—-D

37. Sired Jwar-ye=t 1 = g= I 3h .

e 1
(STEaT=i Ares)

(@) TeAToT
(b) Hfdew =R
(¢) fTofar FeferrT stfemm=m
(d) dfadee™
T 11
(STt qrer)
(1) A geyr oo femmr fafaa,

qe-fade, 9o e, Sl

(2) FEQTEA U¥AHIB, S FATAU,
M HIfgdl Wel, aIften 318

(3) HrHIfSIsh oo, WrHIfSieh =, SHfgd

(4) ©EATHh q{gq“l, Moefies ge

AR, IMEAHIST s zaeen
Hendieh :
(@ B © @
@a o @ 3 @
B @ B @ @
©C @ @ @ B
D 3 1 @ @
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38.

39.

40.

Policy evaluation is done by the
following methods :

(@) Policy impact evaluation

(b) Policy strategy evaluation

(c) Policy project appraisal

(d) Policy monitoring mechanism
Codes :

(A) (a), (b) and (c)

(B) (@), () (¢) and (d)

(C) (b) and (c)

D) (), (¢) and (d)

‘The Policy Sciences’ is regarded as
the first systematic book towards
building a new field of enquiry in
Public Administration. Who
authored it ?

(A) John Dewey
(B) Harold Lasswell
(C) Peter de Leon
(D) S. S. Nagel

Proliferation of private-public
partnership and exchange is posing

a challenge to :
(A) Good governance

(B) Legislative and executive
means of accountability

(C) Regulatory architecture
(D) Quality of public services

38.

39.

40.

SEP - 15221/I1—D

GO e WAt ISR el S
(@ ®No aRomH qedeh

(b) ©RU ECHE oA

() ERU Yeheur= HHE

(d) &R GE]

Hehdieh :

(A) (@), (b) M (c)

(B) (@), (b) (c) =0 (d)

(C) (b) (U (c)

D) ), (c) =AM (d)

‘T gifadt 9mE=_E’ 91 g™
AR YIS Tehl A4 STHUT &1
Tfgell JSaviR AU AFA Sd. &
@A IV el ?

(A) S fea

(B) &lce e

(C) dieX I st

(D) TE. THE. A0

TISHT-HIesIeh QR Tfor fafeamen

(A) G-IRTHHRIH

(B) SURIfIcar=ar &aeHE: AT

FRER A
(C) fames REET
(D) rREaT= o
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41. Give the correct answer by using the

codes given below :
Assertion (A) :

Most liberal democracies respect the
principle of equal liberty — at least
in the context of political, legal and

social rights of all citizens.
Reason (R) :

However, the doctrine of equal
liberty is bedevilled by problems

about how freedom is defined.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

not the correct

(R) is

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

SEP - 15221/I1—-D

41. Fhd gHE AR FEA A0 W A ¢

faam (A) :

Jgdh ISRAAAG! CIhTMel  (Seree)

THM AT do=] 3Tl shidid-T1eM

ANTRERT=AT TSTh1d, JeMfeh, QAT

T (R) :

U WA A I HU=l A

IS UM WA Tl T 3T

Tehd gl :

(A) T (A) 3107 (R) SR A1 Aoy
(R) T (A) = dra T 3T

(B) TR (A) 3T (R) T SR 3Ted W

(R) ¥ (A) 9 g TR0 Tl
(C) (A) T IR 318 T (R) § TH 318

(D) (A) T TH 3¢ g (R) & s 3T
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42. Match List I with List IT and select

43.

the correct answer from the codes
given below :

List I
Theory of alienation
of

(@)
(b)

Theory dialectical

materialism
(c)
d)

Theory of class war

Theory of revolution
List II

Disjunction arises between
relations of production and the
means of production

No major antagonism
disappears unless a new
antagonism emerges

(1)

2)

3)

A state of consciousness shaped
by relations between man and
objects

The economic structure of
society is the real foundation of
society

Codes :

(@)
A (1)
(B) 3)
< @ 3 @2 @
D 2 1 3 @

Political equality is best guaranteed
in a :

(A) Plutocratic state
(B) Fascist state
(C) Totalitarian state

(D) Democratic state

(4)

(b)
(2)
4)

(c)
4)
(2)

(d)
3)
(1)

SEP - 15221/I1—D

42. It 12 9t 11 3ft Sfeean sfor Gehd

43.

YHHYT I I e
RICUN |

(@) TUEYETn faga

®)

(c)

d)

gercash  Wifaerarern fagm

g fagm
s fagra
et 11
IS Gae 3107 Scarer= ] |1eH

. " ..
Iredidied 9aY q2did

Fei= Tcferiy faffa sean fiem,
ST safadiy faeA S A

TS S0 a% ATeA e
Stifurer=i feerdl |eRRy

TSI TR =1 8 SHTST
T 9

(@) (b)
A 1) @)
B 3 @
© @ B @ @
M @ @O @ @

~~~~~~ LY Bl UShid HHAE! Sl
374

(A) iHara/eferme T
(B) WE= TH
(C) HARTART T

(D) TIRIME ToT

(1)

(2)

3)

(4)

(c)
4)
(2)

(d)
3)
(1)
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44.

45.

‘Liberalism’ as a developed ideology
was a product of :

(A) Breakdown of feudalism
(B) Weakened monarchy

(C) Weakened Church

(D) Growing industrialization

Match List I (Feminists Thinkers)
with List IT (Their books) and select
the correct answer from the codes
given below :

List I
(Feminists Thinkers)
(@) Mary Wollstonecraft
(®)
(c)
(d)

Simone de Beauvoir
Andrea Dworkin
Betty Frieden
List II
(Books)
(1) Pornography and Civil Rights
(2)

3)

The Feminine Mystique

Vindication of the Rights of
Women

(4) The Second Sex
Codes :

(@)
A) (D
(B) (2)
C) @
D) 3)

)
3)
(1)
(2)
(4)

(c)
(2)
4)
3)
(1

(d)
(4)
3)
(1
(2)

44.

45.

SEP - 15221/I1—-D

WATAdh! hITT o6 ISLHAAAE A1
w foemyoneten  fafomen SR

(A) TAHRTEE I
(B) ToA STeiel IImal
(C) 3o dTerell gHa (I9)

(D) aTed STefieh i

It 1 (Y= fommaa) aet 11 (=
q&Ih) T S[esal ST @eftd Hehd
YHHYT g Iar e

T 1
(vea faemEa)

T AR
fau T o=
sifgan eelifet
T e

Trer 11

(qEeh)
T BigaEa fafes
(3) fEfeshem oifw T TEew oiw faia
(4) T TS TN
Hehd eIt :

(@) ()

A 1) 3)
B) 2 @
C) @) (2
D) 3) “)

(@)
®)
(c)
(d)

(1)
2)

(c)
(2)
4)
3)
(1)

(d)
(4)
3)
(1)
(2)
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46.

47.

48.

49.

Which one of the following
ideologies is premised on the belief
that established features of society
have crumbled and its political
doctrines have become irrelevant ?

(A) Modernism

(B) Postmodernism
(C) Marxism

(D) Foundationalism

Which one of the following is a
central feature of liberal feminism ?

(A) Sisterhood

(B) The personal is political
(C) Transforming private realm
(D) Access to private realm

Who have found three-dimensional
conception of power particularly
attractive ?

(A) Fascists

(B) Conservatives

(C) Marxists and postmodernists
(D) Liberals

Who among the following has offered
a three-dimensional conceptions of
power ?

(A) Brian Barry

(B) Peter Bachrach and M.S.
Baraty

(C) J. Gaventa
(D) Steven Lukes

46.

47.

48.

49.

SEP - 15221/I1—D

TTeterdehl SIvTdl foramRyomett o9
HHSTER STERAA! 318, i ol FEATod
HHTST Heh hiHae 3T T TsTeh
g AU%Id ool 3Ted ?

(A) SNYfTerdErR
(B) IW-AYfTehdrarg
(C) Hrerdee

(D) TS

AN A ~ fal [a VW haN
Y[cATedYehl <hIUdl IQIHJCIGT TG

TeEd afttey o ?

(A) Wit wrE

(B) AfKAT &9 TSh™
(C) WISFt TR S
(D) @Al STahRTd ard

@i TeTdeh ! SRl Tr=l St Sehed
3Rtk aeelt 2

(A) wfg=

(B) ®damwl

(C) HAERiamRT & SW-3TEeharar]
(D) SERHEIE!

TeAteusht vl et ffadt dehee
et e ?

(A) sEE &

(B) dIeX STeE MUl T, TH. SRiE
(C) . =
(D) et
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50.

In which type of democracy, the
people are considered as an end and

state as the means ?
(A) Liberal

(B) Pluralist

(C) Elitist

(D) Socialist

50.

SEP - 15221/I1—-D

HIUT ThT=AT AIRIMEIHED Tleh § T
afor T ¥ WiEE STd ?

(A) SERHERT
(B) wgetee!
(C) SAfSaRT
(D) HHTSTeeT

51. Who is known as the father of liberal | 51. I ITRHTETGT TSTehd TORAMATET STeh
political philosophy ? BUA HlEel Sl ?
(A) Thomas Hobbes (A) 99 Blesl
(B) James Bodin (B) v 45
(C) John Locke (C) N9 sk
(D) Rousseau (D) &9
52. According to Marx, the class | 52. HEE=a A4 FHNCOA oMg 9
distinctions in society are based on : L TG 3T
(A) Religion (A) &d
(B) Hostile interests (B) foieft feawey
(C) Family status (C) wigfask T
(D) Social status (D) SIS St
53. Rawls concept of justice is based | 53. UeHel =A™ hogar =
(0 s N . T AYRAA! TR.
(A) Distributive principle (A) foaoneass d<
(B) Agreement principle (B) =
(C) Difference principle (C) ¥ I
(D) Joint method principle (D) gqu g5d
23 [P.T.O.



54.

55.

56.

57.

Who from among the following
believed that ‘negative liberty is
superior to positive liberty ?’

(A) J. S. Mill
(B) Isaiah Berlin
(C) T. H. Green

(D) Ernest Barker
Which one of the following pairs is
not correctly matched ?

(A) Pareto — The concept of
residue

(B) Michels — The concept of mass
mind

(C) Mills — The concept of

political formula
(D) Gasset — The theory of the
masses
Which philosopher believes the state
of nature was a “War of all against
all’ ?
(A) Rousseau
(B) Locke
(C) Rawls
(D) Hobbes
The idea of two concepts of liberty
was putforth by :
(A) John Stuart Mill
(B) Isaiah Berlin
(C) Harold Laski
(D) John Locke

54.

55.

56.

57.

SEP - 15221/I1—D

T TeTdeh! ShIvTeT faamadr=n Sl
fagarg Mg i ‘THRCHS WA ®

RIS @aAe T g 2!
(A) . wg. foa

(B) 3EmM@ Fferd

(C) fe. wa. U

(D) 3T s

TICHUehT ShIVT SIS Se3ult AT

oIl A ?

(A) T - AR heu
(B) fooed - SAEMERET Hehodl
(C) foem - TSI §F Fheddl
(D) ey - SHUeEn f9gid

e Toamearen ad, ‘ famiesen’ &
Herte Faifaes g’ el feordt 2 2
(A) &4
(B) s

(C) Uy
(D) ®les

AT 19 Hheyar & fg=ar
WTeicdehl 10T Heal ?

(A) S were e

(B) 341 dfer

(C) Tes TRl

(D) Si9 <k
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58.

59.

60.

61.

The concept of ‘forced to be free’ was
first enunciated by :

(A) Thomas Hobbes

(B) John Locke

(C) Jean Jacques Rousseau

(D) Georg W. F. Hegel

What is Mill’s main objection to the
silencing, or suppression, of an
opinion ?

(A)
(B)

The opinion might be true

There is a high probability that

the opinion is true

(C) The person whose opinion is

suppressed is harmed

(D) A competition of opinion is good
for humanity

What is Rawls’ original position ?

(A) A primitive cultural condition

(B) An experimental set-up used by
psychologists

(C) A historical event at which
people agreed to form a state

(D) A hypothetical situation—a

thought-experiment

The book ‘Who were the Shudras’

was written by :

(A) Periyar E. V. Ramasamy
(B) M. K. Gandhi

(C) Dr. B. R. Ambedkar

(D) V. D. Savarkar

58.

59.

60.

61.

SEP - 15221/11—D
‘s SoATEt ot § WeheUdl Y|
E i e |
(A) YT By
(B) SiA ek
(C) S S &4
(D) wifsl Ssg]. TH. A
FIVCATE TaT= qEhegel fhal TSI
IR i SIdcial &A1& v ?
(A) Ad BR AHUIET IR
(B) Td ©R AT 359 hierdl GreTdl

(C) =1 HIUTEr=A HATHl TSI Tl
el STelelt gemad

(D) Wamdidiel T & AeadTa! SnTet
3T

U= 70 Hop feordt wiordt o ?

(A) srfen wrepfaes afifeerd

(B) ARSI o shetel g
ECE||

o

(C) dieh Tog FidiEe T@r EIELEL

UERIEC L
(D) §9= et - faam-wam
‘TE HIU B’ ® Y& Hjoi fodfed ?
(A) IR 8. = TEE

(B) ®I. . et

(C) €. ViE 3TeEdhi

D) fa. . FEH
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62.

63.

Match the following two lists of
thinkers and books written by them.
Choose your answer from the codes
given below :

List I
(@)
(b)
(c)
d)

R. Tagore

M. N. Roy

B. G. Tilak

V. D. Savarkar
List II

1857 : The First war of
Independence

(1

Letters from Russia

(2)
3)

Reason, Romanticism and
Revolution

(4) Orion : The Arctic Home of Vedas
Codes :

(@)
(A) (2)
(B) 3)
e @O @ 6 @
D @ @O @) 3

The book ‘Religion of Man’,
published in 1931 was written by :

(A) Sri Aurobindo

(b)
3)
2)

(c)
4)
(D

(d)
(1)
(4)

(B) Swami Vivekananda
(C) M. K. Gandhi
(D) B. R. Ambedkar

62.

63.

SEP - 15221/I11—D
el feeiedn <9 IEmeie foamed o

T fofeerell e A= S el

R feeiedn Teha YR T S e
Tt 1

REFEI I

RIEEFSIIRE|

s TR feesn

(@)
b)
(c)
(d) 9. <. |
et 10

‘1857 : dfed @A I
‘Ted Wi W
(3) ‘figm, {Hfefagm 3fs Rieawm’
(4) ‘A : T Mfdewh T A6 ag’
e g

(@) (b)
A) 2 3
B) 3 (@)
o o @ B @
D @ @O @ @

‘Rfets st #9' &1 1931 99 1R
Fiedl T e 7 2.

(A) =t aRfeg

(B) @t faaerie
(C) . . R
(D) #ft. T sESH

(1)
(2)

(c)
4)
1)

(d)
(1)
(4)
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64.

65.

Which of the following statements
are incorrect ? Choose your answer

from the codes given below :

(@) Sri Aurobindo was a liberal
thinker

(b) M. N. Roy enunciated Radical

Humanism

(¢) Jawaharlal Nehru was a

crusader against imperialism

(d) J. P. Narayan promoted

Marxist revolution
Codes :
(A) (a), (B), (0)
(B) (@), (d)
(C) ), (c)
D) (a), (), (d)

Swami Vivekananda’s famous speech
at the Parliament of World
Religions in Chicago was given in

which year ?
(A) 1893
(B) 1890
(C) 1891
(D) 1892

64.

65.

SEP - 15221/T1—D
TIeAeTieh! hiore faem g omed ?
T feeiean Fehd Yemyd gae SW fael.

(@) it eRfog T SERUqaE! faamad 2.
®)

AEA gATY WA AT {AUTE

AT Y{&eh R el

STl g% HrmTae fade

el feet

(c)

(d) STIYHTIT TRE0 I AR aTe]

ShIdrEl UERR ohadl
Hehd AT :
(A) (a), (b), (c)
(B) (), (d)
(C) (®), (o)
D) (a), (b), (d)
o Aeite SmTfaes eafoRd &l

froRTG T ShivTa ST el UG, o

el ?

(A) 1893
(B) 1890
(C) 1891

(D) 1892
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66.

67.

Match the following lists of thinkers
and their respective political parties :

List I
Dr. B. R. Ambedkar

Jawaharlal Nehru

(@)
)
(c)
(d)

Ram Manohar Lohiya
V. D. Savarkar
List II
(1) Indian National Congress
(2) Republican Party of India
(3) Hindu Mahasabha
(4) Samyukta Socialist Party
Codes :
(@)
(A (1)
(B) 3)
< 2 1O @ 3
D @ 2 3 @

Which of the following are not the
books written by Dr. B. R.
Ambedkar ? Choose your answer
using the codes given below :

(®)
3)
(2)

(c)
4)
(1

(d)
(2)
(4)

(@) Slavery

(b) The Life Divine

(¢) Hind Swaraj

(d) Annihilation of Castes
Codes :

(A) (@), (B), (c)

(B) (a), (c), (d)

(C) (®), (c), (d)

D) (a), (®), (d)

66.

67.

SEP - 15221/11—D
Tret fooe < arEmete faerad 9
D ST g AAT SIS .
et 1
. FAEERT SASHT
ST A8®
THAAR elifea
fa. 1. Gt
It 11
AR TSI i
Rgfsrens a1et o sfean
(3) feg werEwm
(4) TgF GHSERT T8
Hehd eIt :
(@) ()
A 1 3)
B) 3 (@)
) @2 @O @ O3
D 4 2 @3 (@
ETATAdh! HIOAl q&ieh  STASHUA]
fefeaiett e 2 9 feetean Hehd Jemem
7 SW feen

(@) YRR

(b) T E® feerEd
© Tz =

(d) STaEee 3=ared
e

(A) (a), (b), (c)

B) (a), (), (d)

(C) ), (o), (d)

D) (a), (b), (d)

(@)
)
(c)
(d)

(1)
(2)

(c)
4)
(1)

(d)
(2)
4)
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68.

69.

70.

Select the incorrect statement from
the following statements :

(A) Muhammad Igbal supported
‘Two Nation Theory’

Dr. Ambedkar chaired the
Drafting Committee of the
Constituent Assembly

(B)

(C) Deendayal Upadhyaya was the
founder member of the

Bhartiya Janata Party (BJP)

M. K. Gandhi wrote the book
‘Hind Swaraj’

(D)

Who among the following started
‘Self-Respect Movement’ ?

(A) Swami Vivekananda
(B) B. R. Ambedkar

(C) Periyar E. V. Ramsamy
(D) Ram Manohar Lohiya

Arrange the following works of Sri
Aurobindo in chronological order.
Select the correct answer from the
codes given below :

(1) The Mother

(2) The Life Divine
(3) Essays on Gita
4)
Codes :
(A) @),
(B) 3),
C) @),
(D) 1),

Savitri : A Legend and a Symbol

(2),
D),
3),
(2),

(D),
(4),
(1),
3),

3)
(2)
(4)
4)

68.

69.

70.

SEP - 15221/I11—D
Trelte faummeEa Jw faum e :
(A) YerTe SohdTta AT fgarse fagraren
EICEIRES!
(B) Ef. SAeEHh HeAMHd=A FYal
G sreAgme oqufaet
(C) e SUTEA B WRATT ST qrela

TR e B

(D) . &. M A o W § g
fetfeed

TICACUhT I * STHE ' Heodes aTe].

el ?

(A) Tt fogerTe

(B) . of. T. 3TaEH

(C) @R 2. =Y. THEmE

(D) THHART it

. e feerean Hehd e aiet 3w

IREEINE

(1) T AX

2) T OE% fewrA

(8) WAS AT Tt

(4) Gfest @ 1 ofisie 3fg o1 foaw

Hehd ol :

A) 4), 2),

B) 3), ),

©) (@), 3),

D) 1), (2),

1),
(4),
D),
3),

3)
(2)
4)
4)
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71.

72.

73.

74.

Which of the following statements
is incorrect ?

(A) Pakistan under Zia-Ul-Haq is
an example of military
dictatorship

(B) Myanmar is an example of
democratic state

(C) Germany under Hitler is an
example of Fascist state

(D) Cuba is an example of
Totalitarianism

According to World system theory,
what is the relationship between
core and periphery ?

(A) Exploiter and Exploited
(B) Rulers and Ruled
(C) State and Citizens
(D) Imperialists and colony

Who wrote the book, ‘Politics and
Stages of Growth’ ?

(A) Walt W. Rostow
(B) David Apter

(C) Gabriel Almond
(D) Joseph Schumpeter

Which among the following is not
mentioned in the five stages of
growth mentioned by W. Rostow ?

(A) Traditional Society
(B) Take-off state
(C) High mass consumption

(D) Technological advancement

71.

72.

73.

74.

SEP - 15221/I1—D
WeTAlsh! Hivd faam s@Era e ?

(A) forar 3a gF% AT=AT FHTeldrd
RE B TToh{l GRAIE 3SRl
Y

(B) ®MHR ¥ ChIe! Tsard 3518l
EIE

(C) Tocat=an Tqamareiial SHAT § Hhie
T SR 3T

(D) FET § Felht HAI IR 3T

ST e fagramed sy o7 Wi

A oe HIMARRT 3Med 2

(A) Tesaupss 3o emfor fucseros
B

(B) TsFehdi ST JT

(C) Tsg ol ArTieR

(D) AHTSIETE! ST SERd
‘giferdied 3f~e oIy 31k M’ & T&Ih
ot fafear ?

(A) dice e=g. T

(B) el X

(C) Tifoaa eTeHe

(D) SIE® YT

Ty, I A=A o= U= TuH el
WTeATeTIeh! ShIoTaT SO G TEl ?
(A) TRURe HHE

(B) STSTUN 3TTEq

(C) W HESh STHM

(D) dAAHS: faehr
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75.

76.

Who classified political culture in
three Subject,
participatory ?

(A) S. M. Lipset

(B) Gabriel Almond and Verba
(C) Robert Mclver

(D) Edward Tylor

Parochial,

Given below are the two statements,
One is Assertion (A) and the other
is Reason (R) :

Assertion (A) :

In recent years welfare state is
gradually diminishing.
Reason (R) :

Due to globalization the sovereignty
of states is at stake.

In the context of the above two
statements which one of the
following is correct ?

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) (A)is correct but (R) is incorrect
(C) Both (A) and (R) are incorrect

(D) Both (A) and (R) are true but
(R) i the
explanation of (A)

1S not correct

75.

76.

SEP - 15221/I11—D
TSTeh 9 GEehelT= iR T, Tehad, fafemse
M0 WEUNTCHS:, 3T iU el ?
(A) . . foaude

(B) TifdsTal sfede offor aa

(C) Ve Hhaat

(D) TEaE T

et 5 fagm feeft sted, (A) T faem
A (R) € R0 AE :

fagam™@ A) :

AR ST hldld HATIRIT TSIl
Bosgad e Bid TS

T (R) :

STfeh IR RO TSAT=AT |re ey
qET AT 3.

gid S faumren deuid Ereiiadent

T gaig freer

Hehdich :

(A) T (A) smfor (R) sieR o719
R) ¥ (A) 3 I7g TSR AR

(B) (A) R 38 99 (R) I 3T

(C) =T (A) =mfor (R) <& 3T

(D) T (A) ofor (R) aIeR 319
(R) ¥ (A) 9 I TSR0l A&l
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77.

78.

Which among the following can be
subject matter according to
Institutional approach to
comparative political analysis ?

(A) British Parliament and Indian

Parliament
(B) Indian and Swiss Constitution
(C) American and Canadian

Political culture
D)

Democratic and Totalitarian
leadership

Which of the following statement/s
is/are not correct description of
‘Theory of Peace’ ?

(@) It shifts the focus of
international relations away
from the interstate level of
analysis

(1) It leads to a broad conception

of social relations at individual,

domestic and global levels of
analysis

(zi1) It seeks to deconstruct the

narratives of states,

international systems and other

actors in international politics

(tv)

It connects study of war and
peace with economic inequality,
with gender relations, with
cross-cultural understanding

Codes :

(A) Only (i)

(B) (i) and (iv)

(C) Only @17)

D) @), (i1i) and (v)

77.

78.

SEP - 15221/I1—D

RIRERE CA R ERG R BTl e
gfsewiva weftad® v fas™
e Bl ?

(A) Tt snfor vardar w9

(B) uRdE enfor Recgreiedt Tsgse
(C) 3TAfRa g HAerE UShd T&hdl
(D) TRIME oMol Felers g

T TeTeht shivrd faem sida=n fagiam
I quE RN ?

(@) @ AR TTRROMEEA AT

&I ATIST  gIdR g
fTTATUR S Teafadl

dafeqe, =dt enfor dfvaw
qIdcsloiicl TTHISeh TaeT=al Wehl
0k HehoUdehe df ~d

(Gi7) T STAET TSTHROMATA T
HY A LT 0T TR

Tehre fo=q Hivgm=T Y9 Sl
Gu) < 5 ST Iacr=n 1A, e
fasmar, S-qs wae efu
SR - T s THs AT ST aTed
Hehdich :
(A) Hdw (iii)
(B) (i) =M (fv)
(C) ®da (ii)

D) @), (G5) A ()

(i1)
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79.

80.

‘The clash of civilizations’ and ‘New
World Order’ predict an ideological
shift in the Post-cold war period
from :

(A)

Political ideology to economic
liberalism

(B)
(C)

Geopolitics to geo-economics

Nation-state to the civilization
area

(D) Political ideology to culture and

religion

Match the pair using the codes given
below :

List I
(1) Immanuel Wallerstein
(i) S. M. Lipset
(zi1) David Apter
(fv) Samir Amin

List II
(@) Modernization
(b) Dependency theory
(¢c) World system theory
(d)

Democracy in developing

countries
Codes :
(A) @)-(a), G1)-(b), (i)-(d), (iv)-(c)
(B) @)-(c), Gi)-(d), (GiD)-(a), (iv)-(b)
(C) )-d), @)-(a), (Gii)-(c), (iv)-(b)
(D) @@)-b), Gi)-(d), (ii)-(c), Gv)-(a)

79.

80.

SEP - 15221/T1—D
NN LR CIGIPEN R el

e, YMAGSR F@[ Hivd fo=ar

HRIcHeh a5l Bidiel T8 Fafoar ?

(A) USRI faarEit d A1feew

ST
(B) YUSTRRUMIRA Y- 3ALhRl

(C) TZ-TSAhET HIdhs

(D) TSR TTERE0MRST HERdl 9

RS

St el I wEd drd e

S[esd ¢

arer 1
() TRGAA A
(i) TE. . fauge
(iif) Sole 3T
(fv) | A

Tt 11
(@) SRR

(b) TEcterET fag

(c) Sfas =gaen fagia

(d) fomoTeia awdmda amme
Hehdieh :

A) @)-(a), (G1)-(b), (Hi)-(d), (Gv)-(c)
(B) @)-(c), G)-(d), id)-(a), (iv)-(b)
(C) )-(d), @)-(a), [@i)-(c), (iv)-(b)
D) @)-b), G)-(d), (ii1)-(c), (iv)-(a@)

[P.T.O.



81.

82.

Assertion (A) :

Classical Realism argues that
conflict among nations in inevitable.

Reason (R) :

Classical Realism believes that
balance of power can secure peace.

Codes :
(A) Both (A) and (R) are incorrect

(B) Both (A) and (R) are correct, and
(R) is the cause of (A)

Both (A) and (R) are correct, but
(R) is not the cause of (A)

(&)

(D)
Assertion (A) :

(R) is correct but (A) is incorrect

Modern technology enhances the
importance of war and threats of
war.

Reason (R) :

War no longer is just a contest of
strength. It is more a contest of
nerve and risk taking.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

Both (A) and (R) are true, but
(R) the
explanation of (A)

(A) is true but (R) is false
(A) is false, but (R) is true

(B)

is not correct

(&)
(D)

81.

82.

SEP - 15221/11—D
fagm A) -
TSI ARATARTTHR TSSRISZHE T Teret
3D 3R,
<RUT (R) :
SIS ATTAGTTER TS Sl
TEAITYA Sl A
et
(A) (A) e (R) 6 = 3T1ed

(B) (A) 3TfuT (R) Ta! sIsR 31Ted, 301
(R) § (A) ¥ RO T8

(C) (A) 3Tfor (R) Tt e 3Ted, T
(R) ® (A) & &R &l

(D) (R) &R 317, TUT (A) Ik TR
fagam™ ) :

MY AT IS AT JgT=n
T Hewd 96 3R,

T (R) :
I$ § A Hhaes dore wEl TG
ST ST Tqel el STHA & Eeh!
e 3.

PO
(A) TG (A) 3T (R) SRR 318 30T
(R) § (A) 9 Irg TR0 318

(B) T (A) o7for (R) SIeR 3], 901
[R) T (A) 3 Irg TR AL

(C) (A) IR g 907 (R) I 3T
(D) (A) I 3¢ 997 (R) s 378
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83.

the

following treaties in the correct

Chronologically arrange

ascending order :
@)
(z1)) The Treaty of Westphalia

The Charter of the UN

(zit) Treaty of Utrecht
(tv) Treaty of Paris

Select the correct answer from the

codes given below :
A) @), @), @), Gii)
(B) Gii), Gv), @), (i)
©) Gi), Gii), (), G)
D) G), Gi), (i), )

83.

SEP - 15221/I1—-D

T IR HIHHATTHAR AT
S el

() TgH TSN T8

faS

(i) AEH

Al nR
(iii) 3¢d IR
(v) IRE=T R

oo N

Gl feeiedn g R e A ST

fomr

A) @), @), @), @)
(B) @), Gv), @), (@)
(C) @), @), (v), (@)

D) @), @), @), Gv)

84. Buffer state refers to : . , N
84. 'IHY T WIS HE 7
(A) A state situated in the middle
of an island (A) TN HEAWR SFHIMR T4
(B) A state located between two (B) T UWEl IEAMY SR T,
powerful enemies, which acts as I @ qUETAT ShTeT SR
a cushion in case of escalating N
_ BUH M R
tension
(C) A state which is bound by a (C) T8 T S IR, TalTed TS
treaty to act as a close ally of Sl fi ®UE R
a powerful country (D) S T FELAATHERG ST TN
(D) A state strategically located on ST, AT g HIEH —
a mountain, giving it an upper
NC
hand during war e
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85.

86.

Which of the following statements
are not true ?

(1) Security dilemma is an
important paradox of the state

system

(2)

Arms race increases insecurity

of states
Arms control is a solution

3)
(4)

Standing armies contribute to

security of all
Codes :

(A) (1), (2) and (4)
(B) (1) and (3)

(C) (3) and (4)

(D) (1) and (4)

Which of the following is not a non-

traditional security threat ?
(A) Arms Race

(B) Melting of ice caps on

mountains
(C) Starvation and malnutrition

(D) Trafficking of humans

85.

86.

SEP - 15221/I1—D

TATAteh! o a9 se) 3R ?

(1) TRV gfaen & T FaIged

Hecaren fedenys e

AT TS ToAT=AT ST
@ B IS

& R g el g e

2)

3)

(4) TR = gaten FRiEdden IreH

h{dld
Hehdleh :
(A) (1), (2) 2for (4)
(B) (1) 37for (3)
(C) (3) =mfur (4)

(D) (1) efor (4)

TITATATRT HITAT eHT 8T FI&=T

URORer kT ATEr ?
(A) ey

N

(B) aai¥TERe’ial ot fordaol

(C) SUTHHR 3o SRy

(D) HHEET=ET A9 SHTAR
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87.

88.

89.

Which of the following statements

is true ?

(A) The UNCLOS upholds the idea
of the Freedom of the Seas

(B) The UNCLOS sets the limit of
Territorial waters at 20 nautical
miles from the baseline

The UNCLOS sets the limit of

the Exclusive Economic Zone at

(©)

200 nautical miles from the
baseline

The UNCLOS sets the limit of
the contiguous zone at 15

(D)

nautical miles from the baseline

Which of the following is not an
instrument of peaceful resolution of

disputes ?

(A) Mediation
(B) Sanctions
(C) Adjudication
(D) Good offices

“Prisoner’s Dilemma” is an idea

associated with :

(A) Game theory

(B) Systems theory

(C) Decision-making theory

(D) Peace theory

87.

88.

89.

SEP - 15221/11—D
@eiledeh! ivd oM sReT 3me ?

(A) Tgaa eI GRS i
TReE WA T Heql Seel
B

(B) ¥ge {Sel AR hIFa (q5Eh

REEH WRfeTeh SHETE! HART fRar
TOEA 20 Tfask Hd Sael 3T

(C) T TS TR HAfaoah
iRy e e & fRaw
TORE 200 Aifaes Heer ffveq
%hal 3R

(D) T TS AR HrERfasEs
ReRA e &= FEier A
SAYA 15 foes Haer Hiy=a
el TR

ETeiTerdeh! Shivd |1EH foamer= siaarget

ERERUEETURIC R R i 1

(A) wemet
(B) sie

(C) =g <0
(D) T Afrag

"t gfau’’ & weud @elerdeh!
Fiure fagrart Fafad s ?

(A) Wes fagrd
(B) =gereen fagid
(C) fAvfagfea=n fagm@

(D) wdt fagia
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90.

91.

Who elects the judges of the

International Court of Justice ?

(A) UN General Assembly

(B) UN General Assembly and UN

Security Council

(C) UN Security Council

(D) UN Security Council and

Economic and Social Council

Which of the following statements

is true ?

(A) India has not signed the Trade
Related Investment Measures

Treaty

(B)

India was not an original

member of the General
Agreement on Tariffs and

Trade

(C) India has not signed the Trade
Related Aspects of Intellectual

Property Rights Treaty

(D) India’s Intellectual Property

Regime is TRIPS-Complaint

90.

91.

SEP - 15221/I1—D

STARTSE AT =R fae
IO A ?

(A) T TSI SATHE

(B) e Uil STAEHl ST We
T R aREg

(C) T o= grenm uiug

(D) TERT T GRAT qeg ST g
Tl emfeeh o Wi g

@ATeTUeh! hivd faaM ael 3R ?

(A) FURfaeEes a9 S SHUer

YA TeRl shetedl el

(B) WA @ T I Yo W& AR

(C) RIS difgeh e SRR

I HIRER WA el sherel! el

(D) YRArET Sifge Fuer a9 e

focaelt gama et
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92.

93.

During which of the following years
did India NOT borrow loan from the

International Monetary Fund ?

(A) 1961 — during Second Five Year
Plan

(B) 1981 — after the return of Mrs.
Gandhi to Power

(C) 1991 - by pledging the national

gold reserves

(D) 2007 — during the worldwide

financial crisis

Which of the following is the most
correct description of geographical
priorities of Modi Government’s

foreign policy ?

(A) US, Latin America, Europe

(B) Neighbourhood, Extended

Neighbourhood, Indo-Pacific

(C) Latin America, Southern Africa,

Central Asia

(D) Indo-Pacific, Western Africa,

Western Europe

92.

93.

SEP - 15221/I1—-D

GITATeTIehT STV O TR ST

Arofefiehe st Bael Teed 2

(A) 1961-TE=TT TodTteh A=

hladld

(B) 1981—&Hdt et Tdd WaedTHa]

(C) 1991-TErE Havuidral TRl Sad
(D) 2007—Sfder faxia Tener= i

WAy HI0A U HiGT TR
T RO iifelsh Wem=rsh
qaityer seR auid e ?

(A) g 9., difed i1, Iy

(B) 9 291, foeafia Seeer =,
feg-wema &=

(C) ife smfent, sfeqoft etftpent, wex
Ty

(D) feg-uema &=, ufy=w o7k,
qfyem 49
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94. The

95.

SAARC Motor Vehicle
Agreement was proposed in
November, 2014; but could not be
accepted due to objections from
Pakistan. Subsequently, the same
agreement was accepted in June,
2015 by four SAARC member
countries under another name.
Which were these countries ?

(A) Bangladesh, Bhutan, India,
Nepal

Bangladesh, Bhutan, Nepal,
Sri Lanka

Afghanistan,
Bhutan, Nepal

Bangladesh, Bhutan, India,
Sri Lanka

Match the correct pairs using the
key given below :

The roles of the Indian Navy as
envisaged by India’s Maritime
Doctrine :

(B)

©) Bangladesh,

(D)

Column 1
(@) Military role
®)
(c)

(d)

Diplomatic role
Constabulary role
Benign role

Column 11

Defensive operations to protect
own forces, territory, trade

Use of naval forces to build
friendship

Maintain good order at Sea

@
(i1)

(7))
(tv) Conduct hydrographic surveys
Codes :

(A) (a)-(G0), (b)-(TED), (c)-Gv), (d)-()
(B) (a)-@), (b)-@GD), (c)-(Gii), (d)-(iv)
(C) (a)-Gv), (b)-GiD), (c)-(D), (d)-()
D) (a)-Giv), (b)-(v), (c)-@), (d)-(i)

SEP - 15221/I1—D

94, gk 2014 TY Hreh HIER 98T IR

95.

@ A S Thel AL TR S[E 2015
AY Heh <A TR TS UM el 6
3 PR T Hell. d <9 HOI 2

(A) FFTARET, YdH, WRd, 793

(B) NTARS, YA, wdTes, ikl
(C) STHMIIH, SIFTARTI, A, T4l

(D) FTRST, Y™, ¥R, siee

dY Sl Sjoodl @

IRATEAT e @ﬁmﬂa Tifiraerean
IR A= fir

wWa I
(@) TR Yfieht

(b) TSHFH YfHehT

(c) aiferdt yf¥ert
(d) HeEm YfHeT
wfq II
= AR, ge el S0 AR

E’{W FHLOIEET Tl WW
EAECIR|

(if) ﬁ e SEUAEE A
(iii) ETE &S GeIaeen e
(iv) TESHHES TA&T

T
(A) (a)-(1), (b)-(ir), (c)-Gv), (d)-()
(B) (a)-@), (b)-(1), (c)-ii), (d)-(Gv)
(C) (a)-(iv), (b)-(ti1), (c)-(i1), (d)-(1)
D) (0)-(iD), (b)-(v), ()-1), (d)-(i1)

@)
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SEP - 15221/I1—-D

96. Which of the following are the | 9. wrcficiier! HIUl T TERE YUl
elements of the Gujral Doctrine ? T AT 7 A B %;Ltﬂtll TR
Answer using the key given below :

hed I AT ¢
(@) Principle of non-reciprocity .
(@) TN AhRUIE
(b) Peaceful resolution of bilateral
disputes (b) Tgueha faame M= AT+ Greao
(¢c) Non-use of nuclear weapons (c) <feror smferard wiwraAtfazsg
against South Asian neighbours SIS a9 A hiv)
(d) Promoting trade within South (d) =faor e SR S 20
Asia
Key : ’
A aTfor
(A) (@) and (©) (A) (@) (c)
(B) () and (d) (B) (b) =01 (d)
(C) (a) and (d) (C) (a) 37 (d)
(D) (a) and (b) D) (a) 3 (b)

97. India launched the Vision Document | 97 & 2017 U8 9Rd™ N¥EI-MRRT MY
for the Asia-Africa Growth corridor FEE fesd W vfrg 3.
in May 2017. Which country is the N TR TR 2
partner of India is this project ?

: (A) TR (US)
(A) United States
(B) Indonesia B) %
(C) Japan (C) ST
(D) Australia (D) srfean
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98.

99.

Which of the following is not an
element of the India-US Nuclear
Deal ?

(A) Separation of nuclear plants in

India between “Civilian” and

“Nuclear”

(B) Bringing “civilian” plants under
TAEA supervision

(C) Closure of “military” plants

(D) Signing India-specific
agreement with TAEA for
verification

Which of the following refugee
communities have been given refuge

in India ?

(@) Tibetans

() Sri Lankan Tamils
(¢) Afghans

(d) Rohingyas

Codes :

(A) (a), (b), (c)

B) (a), (b), (), (d)

(C) ), (e), (d)

D) (a), (c), (d)

98.

99.

SEP - 15221/I1—D

TTAdeh! IV TGS TR -STHIERT

STURIRIET YT ATEl ?

(A) YRATe SToyehedr=t AT’ amfor
YoreeRdt!! ereft fawrmoft RO

(B) AT’ HUUHET STAWRTE A
SIS A=A S BRE @
FroTo

(C) ‘T’ UURTY FT HIU)

(D) STAWSET T[Sl ATFEIER
YHTIT=AT  TSATBUIT HXd]
qRd-fafdme I 3o

EeTeTieh! v Haifad T JRaH

e foen e ?

(@) faaet

() shicehdia qfe

(c) STHIO

(d) Afgwn

i

(A) (), (B), ()
(B) (a), (®), (o), (d)
(C) (b)), (c), (d)
D) (a), (o), (d)
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5 N o fal 1
100. Match the correct pairs using the key 100. @redl el AT o w4

given below :

India’s watersharing agreements

e S[eal

IS SIMEREIA TRATE qIoiae g

with neighbours : EOUS
Column I WY I
(@) Pakistan (@) dIfeRr&d™
(b) Bangladesh (b) SR
(¢c) Nepal () +Ures
Column II wy II
(i) hIE HIR

(z) Kosi agreement

(z1) Indus water treaty

(zii) Farakka Barrage Treaty

Codes :

(A) (@) - @), (®) - @), (o) - (i)

(B) (a) - (1), () - (@), (c) - (D)

(C) (a) - i), (b) - (1), (c) - (@)

D) (a) - @), (b) - (D), (c) - @)

(i) oy ufeed R

(iif) HUERRT SRS IR

Hehdich :

A) (@) - @), () - GD), (e) - (D)
(B) (a) - (1), b) - (@), (c) - (i)
(C) (@) - @), (b) - (i), () - (@)

D) (a) - @), (b) - (D), () - @)
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ROUGH WORK
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